B FELES
FEES EEfi] R2EFE R3&EE RA4ZEREE
RERRAKAO A 163,588 161,601 159,512
VI SEEEZ.NO)
JOJ«—I)L
A= F 4 A 60 60 60
FRRKIRIER - FhK (B FhK (B FhK (BiR)
FIKZZIKER % 36.0 33.5 32.1
27 LD H|AKAOLBAHEDD PR/ 0.73 0.74 0.75
JOJ« - SRS S 15 A . . .
fKAOLBASIEDD PR/ 330 33
. A . .34 3.39
BIVKEEE Fm?/ha 0.67 0.67 0.65
UG -2 C0)) IKEX—45 —BE f8/km 81.3 81.4 80.7
JO7J«—)L
HiEER m/A 6.52 6.60 6.74
#hERFR - BARE




PIstE{E | PISTEfE | PIZT&1E o e
X% &S PI& ==L {y) TER
(R2) (R3) (R4)
A101 | FIOREBIETEE 0.36 0.38 0.42 (mg/L) | BBEmEEasy BRERITER
AN ERY)EREE/KE &, IaE%) ) .
A102 |7 MREK 20.0 20.0 20.0 ( (SAH ESYERE KEEEE) x 100
Bt (%)
MU \O AT S BEK > (EDBMNNIYEE BKIeLR) / KEE
. . . %
SUE] ol 29.5 33.0 26.0 (%) ioe 100
B (TOC) BE/KE S ($a7KAEDEHY) (TOC) EE/ #8KAEE) /
. . 16.7 %
ST 21.7 28.3 6 (%) . 100
" \ (8, BER) |5 (@ADL RELEEL BKEL)/ KE
KEEE | AL105 EEEREKESELE | 0.0 10.0 0.0 UEKIEDSRBEBRBE/ AR /7
(0/0) EE'ﬂEX 100
TR KR (B, BER) |3 (SKE0SZmunERes SKe) /K
& AL06 | 12.4 14.1 14.1 o) BRI 100
e Aoy PSR KR 00 00 0.0 (fE, BER) |5 (SKEDLHER L NERE EREN) /
< AP ' ' ) (%) KBEEEEX 100
B T EEKEE B, I A L M R R e
- L0 ﬁf&m]iﬁi%&&hmé b3 s 6o 16.7 (8, EER) [z (GKEOUSHBRIERNRR KIS/
= pi Yy (%) JKEEAEEX 100
AN A109 EFEE/KEEIEEEL - - - max Z(Xij/GVj )
K A201 | EKKEESEE 64 65 65 (BE) | EAKEEEERN
Bk KkERE (B8R (EPr/100 | BT K EFRE/IBIERS
a202 7 i "E (80) o4 o4 124 / (kK iaA (BA) FKEFS/ R
[GRIEE km?) &) x 100
,_ENMEE 5 512 = 3 AheR = 27K
e L — 79.9 79.9 79.9 (%) (SEMICRRLIARASE / BAtE
PEE) x 100
A204 | E#SIAKE 97.9 98.7 98.6 (%) (AR 17K 22) X 100
A205 BFKAE/K B SR 11.2 12.2 11.9 (%) (B7KE BRI/ B BGESS) X 100
s | AS0L AROAEBE 0 0 0 G
NEXN R
A302 B E MR H 7.5 10.2 23.7 (%) (B FSE TR A PRI K B/ ARk R ) X 100
HESREET | A401 SAENAKER 0.1 0.1 0.1 (%) (BABA K B (BB 17K 22) X 100




PISTEAE

PIStEAE

PIStEAE

Bix %8 X5 B5 PI% ==Yy} STER
(R2) (R3) (R4)
B101 |HCFEKERXR 61.3 61.3 69.8 (%) (B CREKEKE/2KEKE)x 100
B102 |HUKE;1m iz DKRIRDIRELE 0.00 0.00 0.00 (MA/m?) KBRS (CIE U B/ RIEk 2
B103 | TF/k= 5.8 5.6 5.5 (%) (T 7kiHKE / FRIEUKE)* 100
B104 |fEsRFIR= 50.5 50.1 53.5 (%) (—B IR E/MEREE ) x 100
B105 |SAHMEIR 56.2 54.5 60.6 (%) (—BRAAUKE/MEREE) % 100
B106 |GifE 89.8 91.9 88.3 (%) (—BFIRkE/—BRARKE)x 100
B107 |EUKEBIEREEE 4.1 4.1 4.1 (km/km?) Bo/K SR /IR /K S
B108 |EIARXR 15.3 30.1 33.2 (%) (FRUEHEE / SWEE) x 100
MEEREE | B109 |/ULTSR® 0.6 0.2 0.4 (%) (FHRUTZ/ULTE / JULT 5B x 100
B110 |k 7.5 6.5 6.0 (%) (FERIR/KE / ERIEZKE) x 100
B111 |B3h= 91.9 93.0 93.3 (%) (ERIEMKE / FRIEKE) x 100
7 B112 AU 88.6 88.5 86.5 (%) (GERIEIUK S/ ERIBKER) x 100
E B113 |B/KthETEREE 0.92 0.93 0.92 (H) BUKtEE R/ — B TIEUKE
U 8 B114 |[#AKAO—AHfzDEIKE 317 319 324 (WI=DN) (—B IRk R/ AT)x 1,000
1z ) B115 |#a/K#IIRE%K 0 0 0 (H) ERMEKHIREE
7K 5 B116 |fAkER= 97.9 98.0 98.1 (%) (RAEK A O/467KREPIAT) x 100
) 18 B117 |:&fEiREsER 48.5 48.5 48.5 (%) (RARHEISEY M- B - ETAEHEERDAETE) x 100
1t B201 |KiBEiREIS 0.00 0.00 0.00 (/10 G- &P | 10FRDFKIBEL BRI / BkinK
@ B202 |ERbBFEIKACR 48.0 51.5 52.4 (%) (BB UK A /BRAERAKA L) X 100
B203 |k ALI— A7z DEFERERRKE 146 | 148 | 150 (a0 AR/ REIIGRER) 1,007
ek AO
B204 |EROEHEIE 11.9 4.9 4.7 (#£/100 km) | BB /( EEIER/100)
B205 |EREBEROEHEIS 0.0 0.0 0.0 (#£/100 km) | EHEROBMAE/(EBEREER/100)
E=HssEwg | B206 | HKEEROFHEIS 1.1 1.0 1.1 (/100 km) | SXEBROBHEFE / (HEEELER/100)
B207 |JFSAREBEROEHEIS 15.5 12.7 11.4 (#£/100 km) | FESXBEISOBMAL / (FFRREWIER/100)
B208 |fAKBDBMEIE 0.8 1.0 0.9 (#£/1,000 1) |[#KEDBIUEE / (#KE2E/ 1,000)
Bogo |TARARI—ARIZ DFIGUIA 8ARS | 0.70 0.94 (E5R) > (Bik - B7KESR x WK - B/KRAHaKAD) / B
i FERRKAD
B210 |KEXHINEEHEEIZL 3 6 5 (B 4F) FRDKEE N RENFREHEIEL
B211 [HAARRBEEE 2.4 2.4 2.4 (&/km) SHAARE / BUKBIER




PISt&{E | PISt&1E | PIFt&1E e e
BZ g X5 B PI%& ==1iy) STER
(R2) (R3) (R4)

B301 |BKELIM3 Sz DB IEER 0.31 0.32 0.33 (KWh/m?) | BhBREOast / FmikE

B302 |Ei/KEB1m3 Yz DBBIRILE— 3.03 3.38 3.15 (M3/m3) IRILE—HBE / ERIfUKE
. AoKE1m3 Hiz O ZEtikss (CO,) 3 " .
& B303 |\ 164 171 162 (g- CO,/m3)  |[=EbHSE (CO2) HRHE / FRIR/AKE] x 10
vy ==}
=
- BRIEXIER . HEFRET LT — SRR OB N AR B
& = B304 |BLRIKETRILE—FIFR 0.00 0.00 0.00 (%) (BEFRTALT —RRORHERR / S

N - BHEFRE) x 100
= B305 |kRELTDEMFIAR 100.0 | 100.0 | 100.0 (%) (EWHRLE / #kFETE) x 100
E BT oL ENRRRENS | RRREE
y B306 |REREIEMDUH ALK 38.4 67.4 35.6 (%) (E) - 100 AR [ SRR

==}

i i ] LB EIT BT BIRIL
1z o B401 |9049JLAEKE - HER 60.7 60.9 61.0 (%) [(FOSAMRELS + MRILER) / MISLE]
K R x 100
o B402 |EHROITEER 0.10 0.07 0.02 (%) (R ERIEE/ BIIEE) < 100

e SEEMREREBZ T\ 3R IRAE /2
pt . B501 | FIERIBE R KR 0.0 0.0 0.0 (%) CRTEME FEERA T SRIGHRIED /S
i%BES1)%100
& % (EEMAEREBZ T\ DM - BR - HERRER
B B502 |/EEMAFLEBERIEER 71.3 71.3 71.3 (%) EDEFTEY
I HEEY M, - B - FHERBR S DAL x 100
SEEMAESZB T\ 3 BIRIER/ BIE
BS03 BB 276 | 297 | 3009 (%) URERREAEEA CoRIER/ B
B504 |EBROBEHE 0.49 0.36 0.42 (%) (EH &N - BIIE R/ BIRIER)x 100
B505 |EHROBELR 0.00 0.00 0.00 (%) (B N/ BRIER/EIIER) < 100




PIZTE1E | PIStEIE | PIETEAE e e e
B g X7> &HS PI& B STBER
(R2) (R3) (R4)
B601 |RMRIDEUKELER 0.0 0.0 0.0 (%) (FOKRUERE /27K IEEEE ) x 100
_ T o T AV S ESET o
B602 |KHEEROMEILE 155 | 155 | 14.8 (%) (j'ﬂlj;)mi ST [ERATRHRED)
(R - 38% 5T B HROMR(CE Kk
B602-2 | /K EER D BB TR L 0.0 0.0 0.0 (%) 5i@@bﬁﬁéﬁ@ﬁ'ﬂﬁ%m@mﬁﬁsﬁﬁ‘éb)/é@mﬁﬁ&ﬁ‘é
#]x100
B603 |7R> JRiDMmmELE 2.7 2.7 2.7 (%) (RO T PRRED WAL
JPREESI) %100
EROM SN BHE R/ A S ES
. B604 |BRAtOMRE L 49.8 49.8 | 49.8 (%) (RHRDIEN AR/ RALS )
Z Z38)x 100
T B605 |BIEOMEER 21.3 216 | 21.8 (%) (TS R/ EIHIER) x 100
L " B606 |EHEROMBER 34.9 354 | 37.1 (%) (BEREROS SR EILE/ERERER)x 100
_ s (EREBROS 5SHRBAEDS 3 BRLE/ERE
fz = B606-2 | B EIROMEESE 65.4 658 | 51.6 %
K b | BEUEENE HFREOMRES %) BESER)x 100
i = AN HEEL P = s A
s s (EBRKIERIUKERD S SRS/ BB K
B607 EOMBEE 51.0 520 | 50.7 % :
@ = BRI EKEIROMEER (%) AR K TRIES ) x 100
it 56072 ) I— 6.0 70 | es3 o (BB ERD > SR DS 5 &
o ERIKIERACKEROMEE : : . (%) S B KK EEIEE) X 100
- SR (CHR C= BBUKAE D/ — BT
B608 |{SEESEIKERIRE 198.1 | 199.8 | 187.0 (%) (:)’151;1:%% BR CESROKRED/TRRERA
E=)
(T REERIT SR — B IR ) R (H(F
B609 |ERMHERH 11.2 9.4 7.1 (8) SRR/ IR TH — B TIEAER) D55,
EL5OfE
B610 |BKMRER 0.6 0.6 0.5 (8) A RRITER — B R
B611 |[CRMGKIBREE 2.4 2.4 2.4 | (EFF/100 km?) | IGRkaKIERE/ (SAEHKER/100)
B612 |¥&/KEHFREBE 0.01 0.01 0.01 (&/1,000 A) |#a/kEE#Hy (FRFEHEKAO/1,000)
B613 |EBADIGKS > IREE 0.12 012 | 0.13 | (m%1,000 A) S#MEAS>ODER/(16KA0/1,000)




= . o so v PIFt&1E | PIFt&1E | PIFT&1E oy .
(R2) (R3) (R4)
C101 |EZINZHER 112.7 | 1149 | 109.4 (%) (BRI — S TBINGS) / (BEEA- S THH) |x 100
C102 |@EINItER 112.0 | 1143 | 109.9 (%) (BN + S SIS )/ (S5 + M EF)] x 100
C103 |#URszHbsR 111.9 | 1140 | 109.8 (%) (#UNZS/46 2 ) x 100
C104 |REXIEBRILE 0.0 0.0 0.0 (%) [RIERIES/ (25N — SFETHUNES)]x 100
C105 |@ADILER (IRZSHIUNAS) 2.5 2.2 1.8 (%) (ERSBERAS/IGSHILA) < 100
C106 |@ARILE (BAMINAS) 10.2 9.3 8.0 (%) (EABERAS/EANULAZH) X 100
C107 |HEE— AU/ DIE/KINZS 63,151 | 62,485 | 62,850 (FA/N) | kiR s e mm s
C108 |#AKINZICH T ZHBHRSEDHE 10.3 9.7 10.5 (%) (R EHA 5 8/467KINZS) X 100
C109 |#AKINZICH T D EEEFEDE 6.5 6.0 5.6 (%) (TSRS H67KINES) x 100
C110 [#AKINZS (I T D RATHERIE DS 33.6 34.4 34.7 (%) (RSN E /167K UN2S) x 100
Cl11 |[#KIRZSICH T 2RBMBROEOHDOEEEEET20HE | 32.4 32.9 34.2 (%) (BB DTHDEEE R/ MEKINE) X 100
o Cl12 [#AKINZICH T B REEREOHE 428.4 | 4313 | 448.3 (%) (BRI 167KINES) x 100
2 C113 |MBEURER 106.9 | 109.9 | 105.2 (%) (A BT/ 467K BT x 100
2 o Cl14 |{Hatf 210.7 | 2103 | 211.9 (F/m3) |#okiRas/ERiE Ik E
i w | EEEE | s e 197.2 | 191.3 | 201.4 (F3/m?) ;ﬁsﬁfﬁ;ng;iig;gzii;g%%imﬁm Ll
i C116 |1HB10 m*Lfz DFREARIE 1,702 | 1,702 | 1,702 (M) 1 7 10ms /e DRERRIE
= C117 |1HhB20 m*Yiz DRERANSE 3,922 3,922 3,922 (M) 1 NN A20m>H 7z DREFARE
C118 |#Ehit= 260.8 | 256.5 | 260.3 (%) TRENEE/TENEE) x 100
115 | Ho B c34 40 28 %) [1(()%;7-&%+§U,’+§%+§$1ﬁ%§ﬁ%+%§§EHY§)/ &f - BAAT Ix
C120 |EEL= 160.3 | 155.1 | 153.5 (%) [EIE &R/ (EAE +BIRE + SMBEL +EIEINZS) ] x 100
Cl21 | BEEEETS RS 101.7 | 1012 | 104.6 () | PEOROEOOERRERS/(SERRMENA- KRR
£RA)]x100
C122 |EE&EEER 0.12 0.12 0.12 (@) (EEINzs - S TBIG)/[(PEETEE + HABEEEE)/2)
C123 |EEEEERME 6.6 6.5 6.4 (M¥/FBM)  |EmEkE/ arETEE
C124 |BE—AYZDEIKE 300,000 | 297,000 | 297,000 (M/AN) | ERHEIUKE / BB E s
C125 |R@@ERBOES 0.05 0.07 0.04 | (£/1,000 ) |Bm&@EKE/ (REAERAEE/1,000)
C126 |HIRUVMER 90.9 91.4 91.0 (%) (RIEMAZE #E88) x 100
C127 |@kKiErsia 5.5 5.4 5.3 (££/1,000 4) |[87KBLLAE / (47KFF21/1,000)




PIZTE1E | PIFTE1E | PIZTE1E o o
Bi= S48 £} Be PI& =¥y stEw
(R2) (R3) (R4)
C201 |/KETICRI 9 DEREEE 2.82 3.22 3.03 (H/N) BEEHEE U TWLBKERITICE I 28184 / 28
C202 |5MEBRRERERS 4.5 6.6 12.7 BER/A) |(BEIIETHEES I R ZEAL) / SMEN
C203 | PIEBRHERSRS 0.6 0.7 0.9 BERE/A)  |(BEARSTHEES I =M ZEAL) | SHaY
’ii AMBR | 204 |mutmsS= 63.3 63.3 65.0 (%) (LiiSEL / ©BE) x 100
, C205 |KEBEIETIHRIRES 8.5 8.9 9.5 (&E/N) B DI GE LTS EREL | SIE
A C206 |EIBHRESH 0 0 0 (A-H) > (ERBHREESR x BEDL)
# C207 |EBRHZAEE 0 0 0 (AN-H) S (ERBHSAEH x BEA)
fi C301 |iRstEE= 100.0 | 100.0 | 100.0 (%) (BTGB —5—28 | KiiA—5—E) x 100
@ %%&5&%% sy — xRS — = 3 =naE » =g
@ R 0302 EoKiSms =R 0.0 0.0 0.0 (%) (jo_%;cﬁbhﬁwkiﬁ FRIKHEEREE S / EIFR/KHBERAES) %
i C401 |[3REE(C L BIBIRDIRMLE 0.0 0.0 0.0 (ED/4%) IREREER & DERARERER | farkiER
4= - TBHIRM | C402 |A>9—FW MNMCLBBROIZME 8 5 5 (=) T IR—SADIBEEIE
= 1 ® C403 | KBRS EES 301 | 671 | 7.18 | (A/1,000 A) |RE#/ GREEKAD/,000)
&
5= C501 |E—~ES 0.00 0.00 0.00 (A/1,000 A) |E—&A%M/ (BIEEKAD/1,000)
F C502 | 74— NBRINEZIS 0.15 0.82 3.74 (A/1,000 ) |7>5— REEAZ ) (BAEfRKAL/1,000)
&
S | e | 503 |EEEAEE 88.0 82.0 64.4 (%) (BEIEIRAREIEE | 7> — NEIEE) x 100
3 - C504 |/KEH—EX(CHT3EEMGEIS 0.00 0.00 0.00 (f5/1,000 ) | AGEH— B REBIGAL / ($KE28/1,000)
- C505 |/KE(CH T 3EBUBEE 0.09 0.17 0.16 (f5/1,000 ) |KESBERGEHLR ) (aki/1,000)
C506 |/KERE(CH T B3EEMGIS 0.00 0.01 0.03 (f/1,000 ) | AGERE =B / (rki/1,000)




